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3
�"�� ���> *.
*��

 ��� �9����� �
�
 
� ����
�
��� �� ��� !�� ���"	��W  ��� 	� � ��
�
���> �Æ�
���
��  ��� �[�.�� ��1R'4: �[�.�� )-A*%�: 41��9 ��1R�4:
41��9 ��1R�4W  ��� ��� �� 8�����> �
��	� ��
����: 4
���� ��
����: 9"���
��
����: ���	"�
$� �
��	� ��
����: 
		 ��
�����W



��% �		���
 �� 
�����
�� �
��� ����
�� ���
�
���



�������" *


������������� ��
�� 
��	�
�

����	����

�#$ ���� ����
 1���� 1��������� ���  !! 

Others Pions Kaons Protons

T
o

t
/N

H
ad

ro
n

s
N

0

0.1

0.2

0.3

0.4

0.5

0.6

0.7

Others Pions Kaons Protons

T
o

t
/N

H
ad

ro
n

s
N

0

0.1

0.2

0.3

0.4

0.5

0.6

0.7 Real Data

Rec. Monte Carlo

Gen. Monte Carlo

Others Pions Kaons Protons

T
o

t
/N

H
ad

ro
n

s
N

0

0.1

0.2

0.3

0.4

0.5

0.6

0.7

Others Pions Kaons Protons

T
o

t
/N

H
ad

ro
n

s
N

0

0.1

0.2

0.3

0.4

0.5

0.6

0.7 Real Data

Rec. Monte Carlo

Gen. Monte Carlo

3
�"�� +��> �
��
�	� 
����
/�
�
��  �� 
		 ���� �
�
 
�� ����� �
�	�W 44. ������
<	� �= 
�� ;� ������ <�
���=

��'



��( �		���
 !� ���
'
�����
�� �
��� ����
�� ���
�
���

y
0

0.1
0.2

0.3
0.4

0.5
0.6

0.7
0.8

0.9
1

dN/dy

0

1000

2000

3000

4000

5000

3
x10

R
eal D

ata
R

ec. M
onte C

arlo
 =

 42
rec

 /N
 

D
ata

x N
 

G
en. M

onte C
arlo

 =
 15

gen
 /N

 
D

ata
x N

 

x
10

-5
10

-4
10

-3

dN/dx

0
500

1000
1500
2000
2500
3000
3500
4000
4500

6
x10

R
eal D

ata
R

ec. M
onte C

arlo
 =

 53
rec

 /N
 

D
ata

x N
 

G
en. M

onte C
arlo

 =
 17

gen
 /N

 
D

ata
x N

 

 ]
2

 /c
2

 [G
eV

2
Q

10
-3

10
-2

10
-1

1

]-1 )2 /c2 [(GeV2dN/dQ

0

500

1000

1500

2000

2500

3000

4
x10

R
eal D

ata
R

ec. M
onte C

arlo
 =

 58
rec

 /N
 

D
ata

x N
 

G
en. M

onte C
arlo

 =
 17

gen
 /N

 
D

ata
x N

 

y
0

0.1
0.2

0.3
0.4

0.5
0.6

0.7
0.8

0.9
1

MC/NDataN
0

0.2
0.4
0.6
0.8 1
1.2
1.4
1.6
1.8 2

R
eal D

ata/R
ec. M

.C

R
eal D

ata/G
en. M

.C
.

x
10

-5
10

-4
10

-3

MC/NDataN

0
0.2
0.4
0.6
0.8 1
1.2
1.4
1.6
1.8 2

R
eal D

ata/R
ec. M

.C

R
eal D

ata/G
en. M

.C
.

 ]
2

 /c
2

 [G
eV

2
Q

10
-3

10
-2

10
-1

1

MC/NDataN

0
0.2
0.4
0.6
0.8 1
1.2
1.4
1.6
1.8 2

R
eal D

ata/R
ec. M

.C

R
eal D

ata/G
en. M

.C
.

p
[G

ev/c]
0

10
20

30
40

50
60

70
80

90
100

]-1dN/dp[(GeV/c)

0

2000

4000

6000

8000

10000

1
x10

M
ean

    29.55

R
M

S
   

   13.5
R

eal D
ata

R
ec. M

onte C
arlo

 =
 42

rec
 /N

 
D

ata
x N

 
G

en. M
onte C

arlo
 =

 15
gen

 /N
 

D
ata

x N
 

 [G
ev/c]

t
p

0
0.5

1
1.5

2
2.5

]-1 [(GeV/c)tdN/dp

0

2000

4000

6000

8000

10000

3
x10

R
eal D

ata
R

ec. M
onte C

arlo
 =

 42
rec

 /N
 

D
ata

x N
 

G
en. M

onte C
arlo

 =
 15

gen
 /N

 
D

ata
x N

 

F
eyn

m
an

x
0

0.1
0.2

0.3
0.4

0.5
0.6

0.7
0.8

0.9
1

FdN/dx

0

1000

2000

3000

4000

5000

6000

3
x10

F
eyn

m
an

x
0

0.1
0.2

0.3
0.4

0.5
0.6

0.7
0.8

0.9
1

FdN/dx

0

1000

2000

3000

4000

5000

6000

3
x10

R
eal D

ata
R

ec. M
onte C

arlo
 =

 42
rec

 /N
 

D
ata

x N
 

G
en. M

onte C
arlo

 =
 15

gen
 /N

 
D

ata
x N

 

z
0

0.1
0.2

0.3
0.4

0.5
0.6

0.7
0.8

0.9
1

dN/dz

0

1000

2000

3000

4000

5000

6000

7000
3

x10

z
0

0.1
0.2

0.3
0.4

0.5
0.6

0.7
0.8

0.9
1

dN/dz

0

1000

2000

3000

4000

5000

6000

7000
3

x10
R

eal D
ata

R
ec. M

onte C
arlo

 =
 42

rec
 /N

 
D

ata
x N

 
G

en. M
onte C

arlo
 =

 15
gen

 /N
 

D
ata

x N
 

p
[G

ev/c]
0

10
20

30
40

50
60

70
80

90
100

]-1dN/dp[(GeV/c)

0
0.2
0.4
0.6
0.8 1
1.2
1.4
1.6
1.8 2

R
eal D

ata/R
ec. M

.C

R
eal D

ata/G
en. M

.C
.

 [G
ev/c]

t
p

0
0.5

1
1.5

2
2.5

]-1 [(GeV/c)tdN/dp

0
0.2
0.4
0.6
0.8 1
1.2
1.4
1.6
1.8 2

R
eal D

ata/R
ec. M

.C

R
eal D

ata/G
en. M

.C
.

F
eyn

m
an

x
0

0.1
0.2

0.3
0.4

0.5
0.6

0.7
0.8

0.9
1

FdN/dx

0
0.2
0.4
0.6
0.8 1
1.2
1.4
1.6
1.8 2

R
eal D

ata/R
ec. M

.C

R
eal D

ata/G
en. M

.C
.

z
0

0.1
0.2

0.3
0.4

0.5
0.6

0.7
0.8

0.9
1

dN/dz

0
0.2
0.4
0.6
0.8 1
1.2
1.4
1.6
1.8 2

R
eal D

ata/R
ec. M

.C

R
eal D

ata/G
en. M

.C
.

3

�"
��
+
��>
�
��
�

�
���
� 
,

�
��

�
�
�

���
8
"
�
��
�
�
<���
=:
�
�
<�����
�
��6
=:
�
5
�!
�
1
�
�

<��

��
��6
=:
)
<8
�����
=
 ��

���

#
�
�	"
�
$�
�$��
��

�
��
	
�

�

6

��
�
��
��
�

�	�W


�

����
���
�

�
���
<	� �
��	"
�
�
=

�
�
��
�
�
�
��
� 
����
�

�



�
�
�
��
��
�

�	�
<�
��
�
��	"
�
�
=

��
��
�6
�
W
�
��
��
�

�	�
�

�


�
��
	��
6

��


 
����
(
@
�
�
�

�

�
�

�



!��� ����

��� 
������ ��
��� ���
'
�����
�� �
��� ����
�����

�# )��
��&�� 2
����� ��� ��
 '
���%�&�����
 1����

'
&����



��� �		���
 !� ���
'
�����
�� �
��� ����
�� ���
�
���

 
�
�
�
�

�

)$
�
%
"
�
�
*

 
�
�

�

)$
�
%
"
�
�
*

�
��
3
�
4

�
�
�

�
�

�
�
�

�
�

�
�
�

 
�
5 

%
�

�
�
�

%
�

�
�
�

%
�

�
�
�

�

�
.�

2
$1
/
�
�
�
(
�

(
'
&

/
$2
0
�
�
�
(
�

/
0
&

/
$&
&
�
�
�
(
�

(
�
1

1
$'
�
�
�
�
/
�

�
2
2

�
$�
�
�
�
�
(
�

�
�
(

�
$�
/
�
�
�
/
�

1
2
$�

0
$�
/
�
�
�
/
�

�
&
�

�
.�

�
.�

/
$�
'
�
�
�
(
�

/
�
&

�
$'
(
�
�
�
(
�

�
(
�

�
$�
'
�
�
�
(
�

�
0
1

(
$2
(
�
�
�
/
�

�
�
�

0
$0
�
�
�
�
/
�

�
0
�

�
$/
2
�
�
�
/
�

2
2
$/

/
$�
/
�
�
�
/
�

�
�
'

�
.�

�
./

�
$'
0
�
�
�
(
�

�
2
/

�
$�
�
�
�
(
�

�
'
0

�
$�
(
�
�
�
(
�

�
�
2

�
$'
�
�
�
�
/
�

'
0
$0

(
$�
�
�
�
�
/
�

�
�
0

1
(
�
�

/
2
$1

�
$'
/
�
�
�
/
�

'
�
$�

�
./

�
.(

�
$�
�
�
�
�
(
�

�
&
�

0
$/
1
�
�
�
/
�

�
/
1

1
$�
�
�
�
/
�

�
2
�

�
$'
�
�
�
�
/
�

0
&
$1

�
$0
1
�
�
�
/
�

�
�
/

(
(
�
�

�
2
$(

�
$�
2
�
�
�
/
�

0
(

�
.(

�
.2

0
$1
2
�
�
�
/
�

�
(
'

/
$'
�
�
�
�
/
�

�
�
2

(
$/
�
�
�
/
�

�
�
1

�
$�
'
�
�
�
/
�

2
0
$0

�
$1
(
�
�
�
/
�

'
(
$'

�
2
1
�

�
'
$�

0
�
�
�

/
&
$&

�
.2

�
.0

(
$�
'
�
�
�
/
�

�
�
2

�
$(
�
�
�
�
/
�

'
/
$0

�
$1
2
�
�
�
/
�

&
(
$2

1
�
'
�

(
�
$0

�
$�
&
�
�
�
/
�

0
0
$2

�
(
�
�

�
�
$1

/
2
'
�

�
&
$/

�
.0

�
.1

�
$(
'
�
�
�
/
�

'
(
$(

�
$(
�
�
�
�
/
�

0
�
$1

�
$2
&
�
�
�
/
�

0
'
$1

(
(
(
�

/
�
$�

0
0
�
�

(
'
$&

'
�
$'
�

'
$/
1

�
&
�
�

�
&
$/

�
.1

�
.'

�
$2
(
�
�
�
/
�

0
2
$�

'
0
�
�

(
0
$0

&
'
(
�

2
�
$2

�
0
2
�

�
/
$1

(
�
1
�

/
'
$0

(
�
$�
�

2
$(

�
�
1
�

�
1
$�

�
.'

�
.&

&
1
0
�

2
�
$�

2
�
&
�

/
2
$�

0
�
'
�

/
&
$0

�
'
�
�

�
&
$0

�
&
1
�

/
/
$2

�
0
$&
�

(
$(

1
�
$0
�

�
�
$'

�
.&

�

0
�
(
�

/
&
$/

/
�
�
�

�
2
$�

/
2
0
�

�
&
$2

�
�
/
�

�
2
$'

�
/
�
�

/
0
$/

�
�
$0
�

(
$�
1

(
&
�

'
$&
�

�

�
.�

/
&
/
�

/
�
$1

�
�
2
�

�
�
$�

�
(
�
�

�
2
$1

2
'
$&
�

&
$&
�

�
�
'
�

�
&
$�

�
/
$1
�

/
$2
�

(
&
$/
�

�
/
$0

�
.�

�
.�

�
/
'
�

�
(
$2

�
�
'
�

�
1
$'

�
(
(
�

�
&
$(

(
/
$1
�

&
$�
/

1
/
$'
�

�
0

/
$&
1
�

�
$�

�
0
$1
�

2
$/
'

�
.�

�
./

�
2
1
�

�
&

'
0
$�
�

�
(
$�

&
&
$�
�

�
2
$1

�
�
�

(
$(

(
2
�

�
�

2
$�
�
�

�
$(
2

�
/
$�
�

2
$1
0

�
./

�
.(

&
&
$(
�

�
(
$'

2
�
$0
�

�
�
$/

2
0
$1
�

�
�
$&

�
�
$�
�

0
$1
'

(
�
$�
�

�
2
$2

�
$(
�

�
$2
(
&

1
$2
1
�

/
$�
1

�
.(

�
.2

2
'
$(
�

�
�
$'

�
/
$�
�

2
$&
2

�
'
$1
�

1
$�
1

�
�
$/
�

2
$�
/

�
�
$'
�

�
�
$�

�
$&
�
1
�

�
$0
�

/
$�
�
�

�
$&
0

�
.2

�
.0

2
�
$/
�

�
2
$�

2
2
$�
�

�
&
$(

(
&
$/
�

�
�

(
$2
1
�

�
$1

�
/
$'
�

&
$2
/

�
$�
�
�

�
$�
/

�
$1
1
/
�

�
$'
(
'

�
.0

�
.1

�
0
$/
�

'
$�
0

0
$2
�

�
$(
(

�
�
$(
�

/
$&
&

(
$(
�
�

�
$1

�
�
$/
�

0
$�
�

�
�

�

�
�

�

�
.1

�
.'

�
�
$1
�

'
$2
1

2
$2
0
�

�
$&
0

�
�
$2
�

0
$2
&

/
$(
�

�
$1
1

�
(
$(
�

�
2
$(

�
�

�

�
�

�

�
.'

�
.&

�
2
�

1
$'
'

2
$�
2
�

/
$(
2

0
$&
�
�

(
$0
�

/
$1
�
�

(
$�
&

1
$2
�

'
$(
/

�
�

�

�
�

�

�
.&

/

1
$�
'
�

(
$�
/

�
$(
�
�

�
$�
/

'
$/
(
�

&
$�
1

�
$�
�
�

�
$�
0

�
$/
(
�

�
$'
'

�
$�
1
1
�

�
$�
2
1

�
$(
�
&
�

�
$2
�
'

/

/
.�

�
$(
1
�

�
$'

�
$0
(
�

�
$&
�
/

�
$2
/
�

�
$0
2
/

�
�

�

�
�

�

�
�

�

�
�

�

/
.�

/
.�

/
$/
2
�

(
$�
/

�
$�
&
&
�

�
$�
'
&

�
�

�

�
�

�

�
�

�

�
�

�

�
$(
(
�
�

�
$0
/
�

/
.�

/
./

�
$'
(
'
�

�
$2
'
�

�
�

�

�
�

�

�
$�
(
(
�
�

�
$�
2
(
�

�
$�
0
2
�

�
$�
1
0

�
�

�

�
$�
&
&
�

�
$�
'
&

/
./

/
.(

�
$1
�

�
$�
�

�
$�
/
�
�

�
$�
/
'

�
�

�

�
$�
/
�
�

�
$�
1
&

�
$(
/
�

�
$(
�
�

�
�

�

�
�

�

/
.(

/
.2

�
$1
2
�

�
$&
/
1

�
�

�

�
�

�

�
�

�

�
�

�

�
�

�

�
�

�

/
.2

/
.0

�
$0
0
�
�

�
$'
�
&

�
�

�

�
�

�

�
�

�

�
�

�

�
�

�

�
�

�

/
.'

/
.&

�
$�
�
�

�
$�
0
(

�
�

�

�
�

�

�
�

�

�
�

�

�
�

�

�
�

�

�

8
	�
+
��>
!
"
�
��
�
	
���"
	��
 ��
��
�
�����
����
��
 ��
���

#
�
�	"
�
$�
�

��
#�
�
�

�
���
�
��
�
"
��
��
 ���
����
�

�




!��� ����

��� 
������ ��
��� ���
'
�����
�� �
��� ����
����*

 
�
�
�
�

�

)$
�
%
"
�
�
*

 
�
�
�

)$
�
%
"
�
�
*

�
��
3
�
4

�
�
�

�
�

�
�
�

�
�

�
�
�

 
�
5 

%
�

�
�
�

%
�

�
�
�

%
�

�
�
�

�

�
.�

'
�
�
�
(
�

1
&
�

2
$1
&
�
�
�
(
�

1
�
�

2
$'
�
�
�
(
�

0
'
�

�
$/
�
�
�
(
�

�
&
(

�
$2
(
�
�
�
(
�

/
(
�

/
$&
0
�
�
�
/
�

�
2
�

1
$2
(
�
�
�
/
�

�
'
1

�
.�

�
.�

(
$/
0
�
�
�
(
�

2
/
1

/
�
�
�
(
�

(
2
2

/
$�
'
�
�
�
(
�

(
2
0

1
$0
�
�
�
�
/
�

�
�
�

'
$'
1
�
�
�
/
�

�
(
�

�
$(
(
�
�
�
/
�

�
�
�

(
$/
/
�
�
�
/
�

�
&
(

�
.�

�
./

�
$0
&
�
�
�
(
�

(
�
2

�
$'
�
�
�
�
(
�

/
2
2

�
$'
�
�
�
�
(
�

/
(
1

(
$&
�
�
�
/
�

�
1
/

2
$&
'
�
�
�
/
�

�
�
�

�
$(
&
�
�
�
/
�

1
&
$1

�
$'
/
�
�
�
/
�

�
2
0

�
./

�
.(

�
$0
�
�
�
�
(
�

/
�
2

�
$�
&
�
�
�
(
�

�
1
2

�
$�
�
�
�
�
(
�

�
1
/

�
$&
2
�
�
�
/
�

�
/
�

/
$1
2
�
�
�
/
�

�
0
'

'
�
(
�

2
�
$/

�
$(
1
�
�
�
/
�

&
2
$0

�
.(

�
.2

�
�
�
�
(
�

�
2
'

0
$/
&
�
�
�
/
�

�
�
'

0
$2
&
�
�
�
/
�

�
�
�

�
$&
0
�
�
�
/
�

�
�
1

�
$(
0
�
�
�
/
�

�
/
0

2
�
�
�

(
/
$/

&
�
�
�

1
0
$/

�
.2

�
.0

2
$&
(
�
�
�
/
�

�
'
2

/
$0
'
�
�
�
/
�

�
(
(

/
$'
&
�
�
�
/
�

�
2
�

�
$�
0
�
�
�
/
�

1
'

�
$(
/
�
�
�
/
�

&
0
$0

/
�
2
�

�
&
$1

0
�
�
�

0
�
$/

�
.0

�
.1

/
$0
1
�
�
�
/
�

�
(
/

�
$�
&
�
�
�
/
�

�
�
2

�
$/
(
�
�
�
/
�

�
�
(

1
(
(
�

2
&
$0

�
$�
�
�
�
�
/
�

'
(
$'

�
(
/
�

�
1
$2

/
�
&
�

(
(
$�

�
.1

�
.'

�
$(
(
�
�
�
/
�

�
�
�

�
$2
�
�
�
�
/
�

&
'
$(

�
$0
(
�
�
�
/
�

�
�
2

(
0
2
�

(
1
$�

0
2
�
�

0
'

'
'
$1
�

�
�
$1

�
0
�
�

�
/
$�

�
.'

�
.&

�
$(
�
�
�
/
�

'
0
$0

'
�
/
�

0
(
$�

&
/
/
�

1
(
$�

/
(
2
�

(
0
$'

(
�
2
�

2
0
$1

(
�
$�
�

1
$�
(

�
�
2
�

�
&
$'

�
.&

�

�
�
�
�
/
�

1
'
$�

2
0
/
�

2
0
$'

0
(
�
�

0
(
$/

�
�
�
�

/
/

/
/
'
�

2
0
$2

�
'
�

0
$&
�

0
2
$/
�

�
0
$'

�

�
.�

0
/
/
�

0
�
$0

/
�
2
�

(
�
$2

/
&
0
�

2
�
$/

�
/
(
�

�
0
$�

�
�
(
�

(
�
$/

�
/
$/
�

1
$0
'

0
&
$(
�

�
2
$0

�
.�

�
.�

/
(
0
�

(
�

�
1
�
�

�
0
$(

�
�
�
�

/
�
$2

1
1
$1
�

�
1
$�

�
/
2
�

/
�
$(

�
/
$�
�

(
$2
'

�
1
�

'
$&
(

�
.�

�
./

�
�
�
�

/
�
$0

�
�
(
�

�
�
$&

�
�
�
�

�
2
$(

2
0
$1
�

�
0
$'

�
�
(
�

/
/
$�

/
$/
0
�

�
$/
2

�
�
$'
�

(
$2
�

�
./

�
.(

�
(
�
�

2
�
$&

&
�
$&
�

�
/
$0

�
2
�
�

(
/
$&

�
0
2
�

�
�
�

�
0
0
�

�
�
�

�
$�
�
�

�
$�
&

0
$�
1
�

/
$1
2

�
.(

�
.2

&
/
$2
�

�
�
$&

(
2
�

�
/
$�

2
1
$1
�

�
0
$'

&
$/
�

(
$&
&

�
�
$/
�

0
$/
'

�
$'
�
�

�
$�
'

&
$�
'
�

2
$1
�

�
.2

�
.0

1
1
$'
�

�
(
$/

/
(
$1
�

�
(
$&

(
2
$0
�

�
&
$2

�
1
�

�
�
$�

(
2
$(
�

/
2
$2

�
$�
1
�

�
$'
/
0

2
$2
�

(
$�
�

�
.0

�
.1

2
&
$�
�

�
�
$2

�
�
$/
�

&
$'
�

2
1
$�
�

/
2
$�

/
$&
�

2
$2
/

1
$�
�
�

&
$&
(

�
$2
0
�
�

�
$'

�
$�
0
�

�
$2
2

�
.1

�
.'

(
(
$&
�

�
&
$/

�
�
$�
�

�
/
$/

�
�
$(
�

�
�

2
$�
0
�

/
$0

�
�

�

�
$/
(
�

�
$(
'
0

�
$1
&
�

�
$2
(

�
.'

�
.&

�
/
$2
�

0
$�
&

1
$'
�
�

2
$�
&

&
$�
(
�

2
$/
�

�
�

�

�
�

�

�
�

�

�
�

�

�
.&

/

/
$1
2
�

�
$�
2

�
$2
/
�

�
$�
(

�
$�
(
�

�
$/

�
�

�

�
�

�

�
�

�

�
�

�

/

/
.�

2
$�
(
�

�
$'
2

/
$�
&
�

/
$0

2
$(
(
�

0
$�
�

�
$2
�
'
�

�
$(
/
�

�
$0
(
�

�
$/
2

�
�

�

�
�

�

/
.�

/
.�

�
&
$/
�

�
�
$0

�
$/
�

�
$(
'

/
$�
'
�

/
$(
0

�
�

�

�
�

�

�
�

�

�
�

�

/
.�

/
./

(
$0
�
�

/
$'
&

�
�

�

�
�

�

�
�

�

�
$1
0
&
�

�
$1
1
0

�
�

�

�
�

�

/
./

/
.(

�
$0
�
0
�

�
$1
(
2

�
�

�

�
�

�

�
$�
(
(
(
�

�
$�
0
1
'

�
$2
�
/
�

�
$1
�
0

�
�

�

�
�

�

/
.(

/
.2

�
$2
�
�

�
$'
0

�
�

�

�
$�
&
0
�

�
$/
1
(

�
�

�

�
�

�

�
�

�

�
�

�

/
.1

/
.'

�
$�
&
0
�

�
$(
�
/

�
�

�

�
�

�

�
�

�

�
�

�

�
�

�

�
�

�

�

8
	�
+
��
>
!
"
�
��

�

	
��
�"
	�
�
 �
�
��
�
��
��
�
��
��

�
�
 �
�
��
�

#

�
�	
"
�

$�
�

�
�
#�
�
�

�
��
�
�
��
�
"
��

�
�
 �
��
��
�&
�

�





��� �		���
 !� ���
'
�����
�� �
��� ����
�� ���
�
���



�������" �

������	�� ����	����

1#$ �����
���
� ��� ��
 ��3
�
�� �
�����

���



��� �		���
 �� ��$����
$ ���
�
���

[GeV/c]tp

1 1.5 2 2.5 3

L
L

A

-0.5

0

0.5

1

1.5

2

Period P2A

Asymmetry Method I

Asymmetry Method II

Asymmetry Method III

[GeV/c]tp

1 1.5 2 2.5 3

L
L

A

-1

-0.8

-0.6

-0.4

-0.2

0

0.2

0.4

0.6
Period P2D

Asymmetry Method I

Asymmetry Method II

Asymmetry Method III

[GeV/c]tp

1 1.5 2 2.5 3

L
L

A

-1.4

-1.2

-1

-0.8

-0.6

-0.4

-0.2

-0

0.2

Period P2E

Asymmetry Method I

Asymmetry Method II

Asymmetry Method III

[GeV/c]tp

1 1.5 2 2.5 3
L

L
A

-2

-1.5

-1

-0.5

0

Period P2F

Asymmetry Method I

Asymmetry Method II

Asymmetry Method III

[GeV/c]tp

1 1.5 2 2.5 3

L
L

A

-0.2

0

0.2

0.4

0.6

0.8

1

1.2

1.4

1.6

1.8 Period P2G

Asymmetry Method I

Asymmetry Method II

Asymmetry Method III

3
�"�� ���> E�
����� ��
�� � ��� 
��������  �� 
		 ���
��� � ����



���� ��$����

�� ��
 ��� �
���
��� 	�

��� ��&

[GeV/c]tp

1 1.5 2 2.5 3

L
L

A

-3

-2.5

-2

-1.5

-1

-0.5

0

0.5

Period P1A

Asymmetry Method I

Asymmetry Method II

Asymmetry Method III

[GeV/c]tp

1 1.5 2 2.5 3

L
L

A

-0.5

0

0.5

1

1.5

2

2.5

Period P1B

Asymmetry Method I

Asymmetry Method II

Asymmetry Method III

[GeV/c]tp

1 1.5 2 2.5 3

L
L

A

-0.4

-0.2

0

0.2

0.4

0.6 Period P1C

Asymmetry Method I

Asymmetry Method II

Asymmetry Method III

[GeV/c]tp

1 1.5 2 2.5 3

L
L

A

-0.5

0

0.5

1

1.5

2

2.5

Period P1D

Asymmetry Method I

Asymmetry Method II

Asymmetry Method III

[GeV/c]tp

1 1.5 2 2.5 3

L
L

A

-1.2

-1

-0.8

-0.6

-0.4

-0.2

0

0.2

0.4

Period P1E

Asymmetry Method I

Asymmetry Method II

Asymmetry Method III

[GeV/c]tp

1 1.5 2 2.5 3

L
L

A

-1

-0.8

-0.6

-0.4

-0.2

0

0.2

0.4

Period P1F

Asymmetry Method I

Asymmetry Method II

Asymmetry Method III

[GeV/c]tp

1 1.5 2 2.5 3

L
L

A

-2

-1.5

-1

-0.5

0

0.5

Period P1I

Asymmetry Method I

Asymmetry Method II

Asymmetry Method III

[GeV/c]tp

1 1.5 2 2.5 3

L
L

A

-0.6

-0.4

-0.2

-0

0.2

0.4

0.6

0.8 Period P1J

Asymmetry Method I

Asymmetry Method II

Asymmetry Method III

3
�"�� ���> E�
����� ��
�� � ��� 
��������  �� 
		 ���
��� � ���&



��% �		���
 �� ��$����
$ ���
�
���



*�)��
������

I�J ��A� �
���
�: �� 
������(�)�� �� ��)� ��������� ���� 
��*�+�)( �(�����)�,:
4���"��� 
� ��� 4
,� 4�"
�� E
���� ����
�"��: 3�8�"
�� �**�: ���#��D*��%����

I�J �� 3���� $�� .����8���: � �)�+� 
�(��+���(�)�� �- ���	��� ����: �
�	��

����
�: ��
$� 3��
8"��: N"�� �����

I&J �� )�
Æ��: 
������(�)�� �� �*�.�����/ 	���)(*�+: E
	��: �*��: !�6 [��,�

I%J 3� .
	M�� 
�� ���� �
��
�: &���0+ ��� ������+: E
	��: �*�%: !�6 [��,: ��+!
�#%��#���%�#��

I'J ��� �9����� ��		
8��
�
��: ��..�� ���� ��� 	����� ��������+ -��
����(���� ��� ���(���+(��/: �1-!: ���'� �&"� : �
��� �**(�

I(J �� 1
��	�
� �� 
	�: ����� 4���� +���: � <���%=�

I�J -��� 3����
�: 	1���� ������ 
�����(�)��+ <+��C
�
�: !�6 [��,: �*��=�

I�J N��� +C��,�� 
�� 1��� �
�����: ����� -�$� �:�: �*�'<�*(*=�

I*J �� �"��
�"2 
�� -� E
����	����: ���!��#��.!#*'#�� ��������� �� 	
���


� 
��� 
�������� 
� ��� �����
�� ��� ������ 	��� ��� ���� �����

I��J �� )� � �
		
� 
�� �� N� )����: ����� -�$� 4���� �� <�*(*= �'(�

I��J 5� ��,����
7 �� ��� I.1-�1� ��		
8��
�
��J: ����� 4���� +  & <�***= ��&
I
�O
$>���#�2D**�(�&'J�

I��J 1� �	8����� �� ���: !"�	� �����"�� ����� � �A <���&= &'%�

I�&J ����>DD�
�
�����������������D�
�
����D������
��
��
������	�

I�%J ����>DD�
�
�����������������D�
�
����D���
�"
	����	�

I�'J 5� 5���� �� ���: 	�*��)2��)�� .��+���.��� )� �1� ���	��� ��*��)2�� ���,��:
!"�	� ������ 
�� ����� � '�(<���%=: ���

��'



��( !
!�
��
�	�$

I�(J !� ����
�
 �� ���: 	��-��.��(� �- �1� ���	��� ��*��)2�� ���,�� �)*��)�� ��'
-�),������: !"�	� ������ 
�� ����� � '�(<���%=: �&��

I��J 5� )"��
 ����: �9����� !��� ���&#&: )�� <���&=�

I��J N� .
��
���	 �� ���: �1� ���	��� ��),,�� �/+��. -�� ���� �(�����)�,: ��#
���8�� ���%�

I�*J .� 3
����� �� ���: !"�	� �����"�� ����� �  &� <����= '���

I��J 4� ����
�� �� ���: �1� ��& �- �1� ���	��� �3���).���: �111 ��
��� !"�	�
��
�: '�<���%=: %&*�

I��J .� ������� �� ���: !"�	� �����"�� ����� ��� <���&= ��*�

I��J N� +
��	
����7 �� ���: !"�	� �����"�� ����� �  �A <����= ����

I�&J +� 5��M�� �� ���: !"�	� �����"�� ����� � ��� <���%= &�%�

I�%J �� +����� �� ���: !"�	� �����"�� ����� � ��& <���'= (��

I�'J �� �
		
 �����: �1� ���	��� ���(���.����4 �����+ ��� 	��-��.��(�: E��,#
���� �� 3"�"�� ����
�� ` �9�����: <���%= ��

I�(J A� !� +���,�$ �� ���: �
��� !"�	� 4���� ��� <����= (%�

I��J )� 5� �
		�� I�9����� ��		
8��
�
��J: !"�	� �����"�� ����� � ��: <���%=
����

I��J !� ����
�
 �� 
	�: �9����� !��� ���&#': )�� <���&=�
!� ����
�
 �� 
	�: �9����� !��� ���&#�: )�� <���%=�

I�*J �� �C����
��: 4� 4���8	
�: �� �����
 
�� �� �,
���: 
�O
$>���#��D�&���'&�

I&�J )� ����	�
�: �� 1�
� 
�� N� -
����
�: ����"�� ����� ����"�� �A�: ���
<�**�=�

I&�J E� -� 4��:��(1�)5��+ ��� ��(*��� ��� 	���)(*� 	1/+)(+ �3���).���+4 � ��6
�� ������(1: ���
����: �**�: ��+! �#&��#'����#'�

I&�J �9����� ��
8
	
�� �
��>
����>DD666����
����������D����
��D�� �6
��D�a
��D
��"�D��
8D
���2����	�

I&&J +
� ��
		� 	
���>
����>DD666����
����������D����
��D�� �6
��D�a
��D
��"�D��
8D
���2����	�
D
 �D�������D"���D,D,��M���$D�"8	
�D8
���
		D�����
D
 �D�������D"���D,D,��M���$D�"8	
�D8
���
		D���&�



!
!�
��
�	�$ ���

I&%J �� ������� �� ��� I!�6 �"�� ��		
8��
�
���J: ����� 4���� + �& <�**'= ����

I&'J �� ��
���	: ��-7�� �)��� ��++�)��)(1���, 2�� !�+�)..��, ��+ �/����8�++�+
7�) ���	���: �
�	��
 ����
�: ��
$� 3��
8"��: �
��� ���'�

I&(J +� N\
���: ����)�+ �- ������)( ��)� ����(���� )� ���� �(�����)�, 	��(�++�+ ��
�1� ��3'��'����)�, ����� �- &��: ��� ����
�: ��
$� -�����8"��: ���
	 ���%�

I&�J �� ���

$��: �9����� !��� ����#��: )�� <����=�
�� ���

$��: �9����� !��� ����#�': )�� <����=�

I&�J N�� 4� )�7: �9����� !��� ���%#&: )�� <���%=�

I&*J N\��� ����M: �9����� !��� ���%#��: )�� <���%=�

I%�J +� +
��	�,: ����>DD������$���������D����
��D�� �6
��D�a
��D
��"�D�
	 
�D�

I%�J +� +
��	�,: �9����� !��� ���%#(: )�� <���%=�
����>DD������$���������D����
��D�� �6
��D�a
��D
��"�D3�-D-D�



��� !
!�
��
�	�$



���+��������

3\"� �
� �������\"�M"��: �
� 
�� 8�
� A�� 
���� �
���� ��8�
� �� 
���� �
8�: �\�����

�� �
�� 
� �
���� ���		� �
�M ���M	
�� 8��
�,���
+�
 ��
��� +����"�� ��� .���� 3
����� "�� ��� � 5
� 5\��
���
�� �\����� 
�� �
��
8��
�,��: �
b �
� �
��� ��8�
� "�� �
�� 
,�
$� ��
	�
��� 
� �9����� 12���
#
���� ���\��	
��� "�� �
�� "������\"�M� �
8��� +�
 ��� 3�
�M#.��8��� .�
��
"�: ���C

.��
�,� "�� �
��
� 3��
���� $�� .����8��� 8��
�,� 
�� �
��  \"� �
� 5����,�"�
��
��� ��8�
� "��  \"� $
�	� �
�,"��
���� "�� .
	 � 8�
 A����\
���
�# "�� ����"�#
�����8	����� 18���� �\����� 
�� �
�� 8�
 ��� ���
��

� ���
		 "�� N��
� �
����

 \"� �
� 5���
�
���� ��
��� ��8�
� 8��
�,��� )
��	
 �\������ �\����� 
�� �
�,��
 \"� �
� .
	 � 8�
 
		�� A��6
	�"��� �
��� "�� ��� ���
���� �8��
	"��  \"� �
� ������
"�� �����
����� ��8�
��"� �	�� ���
�
, ������ �
�,� 
��  \"� ��
�� 3��"�����
 �
6\
����� ��� ���
���� ��"�
"���
)
�M 8��������� �
�, ��8\"��� ��
��� 1	����: ����
 "�� .
���"� �
���
\
: "��
��
��� )����6
����� +
�8
�
 "�� ���
��

�: �
� �
�� 6\
����� ��
��� ���
����
��"�
"�� "������\"�M� "�� ���"�
�� �
8�� "�� ��
��� 3��"��
� ���
 �
��
�
�

�
������: �
� 
����  \"� �
�� �
 6
�� +�
 
		�� ��
��� 3��"���� �\����� 
�� �
��
8��
�,��: �
b �
� �
� ����	 �� �
8�� ��� 5�� 
"�� �
	  ��
 M" 8�,����� "�� 
�

����� �
��� M" ���,���

��*





!�+�,�����

�
��� ��8�
� 
�� $�� �
� ��	8����\
��
� $�� 
��� 6�����: "�� 
�� �
8� ,�
�� 
������

	� �
� 
�����8���� R"�		�� "�� .
	 ��
���	 $��6������

�
�
�	 �
���
\
: 3��
8"��: �

 ���'


